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Homeworkb. Solution

A=173><H—123, g= 9t
T, T,
A =25, (0)A0,
fregency S(w) A fregency S(w) Ax

0.1 0 0 2.6 0.01275 | 0.050498
0.2 7.68E-43 | 3.92E-22 2.7 0.010563 | 0.045963
0.3 5.64E-07 | 0.000336 2.8 0.008811 | 0.041978
0.4 0.204051 | 0.202015 2.9 0.007395 | 0.038459
0.5 3.272533 | 0.809016 3 0.006244 | 0.035339
0.6 5.319968 | 1.031501 3.1 0.005301 | 0.032562
0.7 4.480753 | 0.946652 3.2 0.004524 | 0.03008
0.8 3.073738 | 0.784058 3.3 0.00388 | 0.027856
0.9 1.991165 | 0.631057 3.4 0.003342 | 0.025855
1 1.284467 | 0.506846 3.5 0.002892 | 0.024049
1.1 0.841364 | 0.410211 3.6 0.002512 | 0.022415
1.2 0.563313 | 0.335652 3.7 0.002191 | 0.020932
1.3 0.386029 | 0.277859 3.8 0.001917 | 0.019583
1.4 0.270568 | 0.232623 3.9 0.001684 | 0.018352
1.5 0.193669 | 0.196809 4 0.001484 | 0.017227
1.6 0.141322 | 0.16812 4.1 0.001312 | 0.016196
1.7 0.104947 | 0.144878 4.2 0.001163 | 0.01525
1.8 0.079186 | 0.125846 4.3 0.001034 | 0.014379
1.9 0.060618 | 0.110107 4.4 0.000922 | 0.013576
2 0.047018 | 0.096972 4.5 0.000824 | 0.012835
2.1 0.036908 | 0.085917 4.6 0.000738 | 0.012149
2.2 0.029292 | 0.07654 4.7 0.000663 | 0.011513
2.3 0.023482 | 0.06853 4.8 0.000597 | 0.010923
2.4 0.018999 | 0.061642 4.9 0.000538 | 0.010374
2.5 0.015503 | 0.055683 5 0.000486 | 0.009863




49

_ 49
(2)E = Z% POA = %pgz A = %pg *(4.50612) = 22102
k=1

k=1

(3

= A

2.(D

H,;=9m, T

modal —

2
Hy,=4/m, m = (%j =5.0625

A=.2m;InN =6.8284m
- H =13.6568m

=20sec

2)
H,,=4m, T =10sec
Tmo al

H,,=4/m, m=1 T_ = 148;3 7.1023

7
N = 3.1536x10' xM _ 444026880

Tmean
A=./2m InN =6.3105m
- H =12.6211m
(3)
T —i T"“’da" =8.6701sec
"N "L 208 ke

Tatal

0 - 30 40 50/ &0 ™ 80

90 100



@ 100 year period

| BETL s
3.1536x10" x100 4

Q (%j P(H1/3,i)dH

H

72?/032

Q=274924x10°=Ye [ JP(Hl,&i)dH

918l 9ol Hos iterationd &l #hs WA A 74, #iasp g9 Fho] ZHA 2 wje]
Ho A 78 5 9

H, =37.6m

®@ 200 year period

Ho
Hy/3

-2
8ol (
3.1536x107 x200 4

Q J P(Hl/s,i)dH

o Ho ¥
Q=1.37465x10"° = Ze 2[] P(Hy,,;)dH

Dyl 2

rlo

WHOE Ho& T Hy=3849m < 2& F vk



